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Given 1Q scores are approximately normally aie adh L pISA) g glae lalle a8 1)
distributed with a mean of 100 and standard <l =35 100 ;_,L_; Ja giey _avdall 13 i
deviation of 15, the proportion of people with 1Qs SS3 s s 550 2DVl ded (15 5 june

above 130 is: (55130 e S

Suppose that the probability of event A is 0.2 JS s P(A)=0.2, P(B)=0.4.S 13
and the probability of event B is 0.4. Also, P .
suppose that the two events are independent. P(A|B) =2 (U Liltis B cAllall
Then P(A|B)=7is:

[ P(A)YP(B)=0.2/0.4=1/2

[ P(A)xP(B)=0.2x0.4=0.08

b
"‘-‘[G.B
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A man's regular pay is 3Dhs. per hour up to 40 Joo dole Sl anl 20 3 plSsile Jay ol
hours. Overtime is twice the payment for regular 131" gl ielu 40 4o sene e e 12
fime If e was paid 68 Dhs., oW Many NOUTS ¢ ) 15 i 4lee ot 168 g o
- 4 Lo £ gl SlA 4 (Juo ddliml Aol oS ¢

fadlal dole (S oo Al Cimin i,

)

If an increase of 20% will change the price of an Al 20 " Y 02 480 L fale m aal 12l
item to $480, what is the original price of the el e Ll A\ adl 1=20%

item? ¢ -;L‘m
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What is the polynomial graphed in the figure? ot Al JSa) A g el Adlal) Aoles

f(x)

ro
|

/
/
/
/
/

© 00 =x*(x— 1)

FO)=0c+2)(x—1)(x—2)

fO)=(x—-3)x+2)(x—1)
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] x,f‘l(}r]=? for x=1
—e

if £(x)=
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1
l-e

) =724 f0) =

S 1A
<~

x=>1

( FFx)=1-¢*

-1

-1 -
f7H00) o

In the figure below, Eﬁ is perpendicular to the

plane AEFG. Which of the following planes must
be perpendicular to the plane AEFG.

o goses AB S 1 Jull e 3

ca Al b @) e sl AEFG 5 sl
T AEFG s siedl o "uogee 1S

F
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In the figure below, UVW is a triangle, where A A el ol fesy S0 YW .,-,-“-"3‘ Jesd o
is the midpoint of UV, B is the midpoint of UW, el ¢ (UW riic B Adatill § (Y —aaiic
C is the midpoint of VW , and AB and AC are AC3AB = S amyais VW —aaia C
drawn. Also, if VW = 7x—3 and AB = 3x+1 JEAB = 3x+1 s VW = 7x—3 S
. the length of VCis? g - VC Jsb

[ 1.3 5 and {2, 3, 4}

[ 1,2, 3}and {1, 2, 3}

[ 1.3, 5'and {1, 3, 6}
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The truth table for (p v g) v (p A r)is the o A (Aaall ) poall Jgan 9% L Lee 4
same as the truth table for: 5 jlall (Aasall) ol geall Jgas
pvaviparn

. pv @dnlpve)

h

pv @dnlpar

(pv @)nr
AN
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